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Q-1. Choose the correct option for the following : [10]
{iy  The general formula of Gignard reagent is |
(a) RMgX  (b)ROH  {(c) RH (d) HX
(i)  E;mechanism involves as an intermediate,
(a) carbanion  (b) free radical {c)carbocation {d) none of these
(i) Which carbon cation is least stable?
(8) 1° (b) 2° (c)3° (d) *CHs
(iv)  The position of which element in periodic table is still a matter of dispute ?
(@) H {b) H, (¢} Li (d)c
{v) The actual order of electron affinity of halogen elements is ...,
(@ F>Cl>Br>1 (b)F<Cl<Br<t {c) F>Cl < Br>i (d)F<ClI>Br<l
(vi)  sp*hybidization orbital has % of s character.
(a) 25(b) 50 (¢} 75 (d) 100
(vii)  The conjugated base of Hy0* IS
| (a) H,0 (b) OH™ (¢} H,0, (d) none of these
(viil}. Which concept classifies the acids and bases on basis of proton transfer 7’
(a) Arhenious (b) Lewis (c) Lowery Bronsted (d) none of these
(ix}  The difference between observed value and true value is called: ?
(a) Accuracy (b} Error {c) Precision {d) Reproducibility
{X)  Number of significant figure for the data 0.00240 is
@2 (b)5 (3 (d)s } _
Q-2. Answer in short (Any ten) - [20]
{a) Define E; and E, '
(b} Give structures and IUPAC names for all possible isomers of Cy Hy.
(c) Give Corey House reaction.
(d) Give definition of lonization energy.
(e) Give the Pouling's equation for electro negativity.
(f) What is Mendeleefs periodic law?
(g) Write La Chataliers 'principle.
{h) What is common ion effect ?
(i} Discuss the limitations of Arhenius theory.
(j) Define Qualitative and Quantitative analysis.
(k) Write advantages of Chemical method.
(I) Explain the term Accuracy and Precision.
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Q-3. {a) Write a note on halogenations of alkane. [5]

{b) Discuss Ozonolysis of alkene with example. [5]
OR | - |
Q-3 . (a) Discuss E; reaction mechanism with example. - [5]
(b) Calculate the percentage of isomeric products obtain upon monochlorination of n-pentane.
The relativity of 1%, 2° ,and 3° H are 1: 3.8: 5. . _ _ [5]

Q- 4. Define ionization energy. Discuss the factors affecting the magnitude of lonization energy. [10]

OR
Q- 4. Explain the long form of periodic table, . (10]
Q-5. (a) Write a note on Buffer solution. _ sl
(b) Calculate pH value of a solution obtained by mixing 50ml of 0.2N HCl with 50ml of '
0.1N NaOH, o ‘ . [5]
oR | | o
Q-5. (a) Write a note on Selective precipitation with suitable example. | [5]
(b) The solubility of AgCl at 25°C in water is 1.67 x 10 mole/lit. Calculate the solubility
product of AgCl. - [5]
Q-6. Give complete classification of chemical analysis and write stages of analysis. {10}
OR A . _
Q-6. {a) What is Error? Discuss the types of error, Discuss different methods for the

minimization of error. [10]
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Q-1. 0% [@seu el [10)

1. ofloott§ ylBas of Ante Yot ....... B.

{a) RMgX (b)ROH (c) RH (d) HX
2.6, 4Ba Wl utetadl oy RUE] |

(a) stolRAotdot  (b)HsAHES (o) stelbelalol (d) A5 uel otdl
3. 52 sielbalaet el vﬂ@eéztaﬂ 87 |

@1 (2 ()3° (d) "CHy
4, vleld 8128 Ul 52U dlecl of Wlet % UG Qaelrue D 7
@H (b} H e (@c
5. Al ciecl Hl 8AsAeA iyl oll U ... B ?
(@)F>Cl>Br>1 (b)F<Ci<Br<l = {c)F>Cl<Brsf " (d}F<Cl>Br<i
6. sp’ Ugcl 5&s ML S 58S of YHILL ... % QA D,
(@25 (b) 50 ()75  (d)10
7. Hy0' ol Aol A ... B, |
(a) HO (b)OH" (VH0;  {d) ¥& uQl ol ‘
8. 52l Rgict Ml Dot 2@tetictz A itk Aells-Aeos of colls29L srall wd B2
(a) dollary (b) e  (c) Al-dlads ~ (d) As uel atdl

9. AL e A WAABA Heel A ol dgleld A 53 D.
(a) AsuY 38 () udgd  (d) Yool FHctct
10. 0002401 elRyUS 25 ... D. |
(@2  (b)5 (03" - {d)6
Q-2.%5 Hl welel @ull, (aRd £y ) [20]
(a) E; ;'AEI Ey ol caltuel, ),

{b} C4 Hgoll Gitdl 9tsal citiizel 13 QAuell IUPAC ot Wl
(c) 8R-6161 ylBan M,
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(d) 2Ll 2l ofl cavel A,

(e) Qg AR W] wéell of allsel e,

f Rodcllg ol uiad slwes A Rau g 87

g) a-d3clar ol Reld v,

(h) Lot Bllet UAR A2A 7

(i) wudellaa gl ol Halel oLl

L [5) OQUeHS AR AULRAMS YAUST ol caltuall 2,
(k) 2ma@s uacl o gel ofiLdl.

) aredl- AsUE 20l yoto{l(ecll

. qa. (a) BUChat ol 22t GUR oAltt vl | [05]
(o) wehlet of WA Bereel ARt wstal, S (1)
UL

Q-3. (a) E: ulal ol Gauldfd Geleel Ul wuostall, | o8]

(b} - Yot ott ol scllsAd ofl marl olluss of 2stci? YL sl FHl
1° 20 A 31 ofl Wt uBAAL 1: 38 5. 8. ' (05}
Q-4, waellsrel AB ol cavlt 2, wt2Lefls2el AB ol e o wursdl uBRea
@A ual s | (0]

o ugal |
Q-4 vlad Bes ol fdade v o w2l 52U | [10]
Q5. (@) 1ge slag @A Al @l | (05]
(b) 50mi 0.2N HCI el 50mi O.1N NaOH WA 8L 52l vloletl ARl ol pr Q0. [05)
| wdl | A
Q5. (a) Ao Gergeel WA udeallo uaBust R Ak &, sl
(b) 25°C clluHIsl AgCl ol welHi sl 1.67x 107 mole/lt. .t Agcl oll sleatdl
| oRUslR 2l . | [05]
Q-6. 2u12@ls YausswL o Ayd aoflsrel Wl Aal YUSEREL el clolsst awl, . [10]
UL :

Q-6. aél Aed 97 42l ol SR addl. 74 o sl gacloll @R S agldl.  [10]
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